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(10 Digits) in the OMR Answer
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ansﬁ;ers in their own words as far
as practicable,
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indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
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TE g9 5 @vel F & _ wug-ar pg 5 This question booklet is divided into

QUg-§/

two sections — Section-4 and

Section-B.

6. @Ug-3r § 80 aﬁﬁw vy & firgg 6 In Section-A there are 80 objective

40 T - JfrarE &1 afy wemt 40 @
40 IIWRI #1 & GogiwT fear s
T 9T @ faw 1 oiw FriRa &
omm—wwﬁquﬁﬁm
HI BTt/ qieT 47 @ W1 fdt ot
W & E@TEEA / 7vel uaret / wis /
qIGT 1T FT OMR IAT-T=eh § wai
TRl @Y orwuT wdem wRvmw s
g

. G@Ug-§ § WAElf® faarT & sl
FoT 599 & g IT 99F &1 TAF
7T & g 2 o i &

gferg 4 6 o9 3TIT 597 (Q.Nos. 18
6 & frd fe=sT 3mvt & swv a= 81
ity fE d 4 &g ST T
(0. Nos. 9 & 12 & fFd fal
29yl & Jwv g+ &1

‘Science.

type questions out of which
40 .questions are compulsory If the
candidate answers more  than
40 questions, the first 40 answers only
will be evaluated. Each question
carries 1 mark. Darken the correct
circle given on the OMR answer sheet
with black / blue ball pen. Do not
use whitener / liquid material /
bladé / nail etc. on the OMR answer
sheet otherwise the result will be

invalid.

. In Section-B there are Short Answer

Type questions of 5 subjects of Social

Each  question carries
2 marks.

History has 6 Short Answer Type
qguestions (Q. Nos. 1 to 6) out of which
any. 3 questions are to be
answered.

Political Science has 4 Short Answer
Type questions (Q. Nos. 9 to 12) out of
which any 2 questions are to be

answered.
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el & 4 o7y ITRIT 997 (Q. Nos.
153 18 & Fd fe=t 2 wot &
Fav 3+ &1

ymier 4 6 &g I T (Q. Nos.
21 @ 20) & fod f=t 3 ot &
IV g 8/

ATGRT USRI T 4 &Y I g
(0. Nos. 20 @ 32) & Frdl farelt
2051 & Fav a7 &
s?a‘;a#%ﬁﬁ?sﬁééﬁﬁzrm(owos.
7,8, 13, 14, 19, 20, 27, 28) &1 A%
g¥T & v 431'39‘1'-:1'5]'!'7?35;'! glerg,

el faeE, ST ud yiler d

% & U-0F H7 & I o1 &1

Economics has 4 Short Answer Type
questions (Q. Nos. 15 to 18) out of
which any 2 questions are to pe
answered.

Geography has 6 Short Answer Type
questions (Q. Nos. 21 to 26) out of
which any 3 questions are to be
answered.

Disaster Management has 4 Short
Answer Type questions (Q. Nos. 29 to
32)-out of which any 2 questions are
to be answered. ‘

Apart from these, there are 8 Long
Answer Type questions (Q. Nos. 7, 8,
13, 14, 19, 20, 27, 28). Each question
carries 4 marks. One Long Answer
Type question each from History,
Political

Science, Economics and

Geography is to be answered.

P = 5(*?#;7;‘?1#? 3ysvor 7 8- Use of any electronic appliances is

TN QUieET Efeid &1

strictly prohibited.
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@ ug - 3 /| SECTION - A

TS W / Objective Type Questions
T WA 19 80 7% & wew Wy & wrer 9y fweq fv Ay & o @ v wE
T ERT g7 Y W Frwew @t oMR Az av fafea w1 FaeT 40 WAl & & I

40 x 1 =40
Question Nos. 1 to 80 have four options each, out of which only one is correct. Mark your

selected option on the OMR sheet. Answer any 40 questions. 40x1=40

1. TETEMR H a¢l 9 27 a6 S99 @1 9oy §
(A) HXEeH (B) ©Ishard

() g (D) T A FIg Tl

The result of vibration at the bottom of ocean is
(A) Landslide (B) Cyclone

(C) Tsunami (D) None of these

2. 3 Taerd 7 dERT 8T R E 2

\(9 Sy &= B) fomm &m
) Term &= (D) ar &
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Which is the third sector of Economic deveclopment ?

(A) Agriculture sector

(C) Education sector

(B)

(D)

Scicence sector

Service sector

3. g G 3ume (Fefe A Sume) w1 S9anT e ¥

(A) IR & fow

(C) Al = @i & fau

(B)

(D)

Remote sensing satellite is used for

(A) Telecommunication

(C) Discovering resources

4,  HEG SHd 3T9ET §
(A) Sl
Loy e

Man-made disaster is
(A) flood

(C) terrorism

(B)

(D)

(B)

(D)

(B)

(D)

e fasma & fom

&Y & i

Meteorology

Television

carthquake

Tsunami
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5. ORA o ST STENT 1 7189 el fomam 71 ?

(A) 15T, 1950 ® 15 fa@ER, 1950 F

(C) 15 3TN, 1951 Tl (D) Eﬁﬁﬁ%qﬁ

- When was the Planning Commission established in India ?
(A) 15th March, 1950 (B) 15th September, 1950

(C)  15th October, 1951 (D)  None of these

6. URA P O T R ¥R i el ST e ?
\y{ T B) el
(C) qeAr (D) Ei”'k_*ﬁ?

Which city is called the Financial Capital of India ?
(A) Mumbai (B)  Delhi

(C) Patna (D)  Bengaluru
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7. e fae g

(A)  URETHS UNEeR | (B) TS SREe A
(©) (A AR (B) IH D) T FE T

Economic Development is related to
(A) Quantitative change (B) Qualitative change

(C}  Both (A) and (B) (D)  None of these

8.  WRA H ITHIHT W& HF F AL g7 ?

(A) 1968 H M 1986 ™

() 1984 H (D) 1976H

When was the Consumer Protection Act passed in India ?
(A) . 1968 (B) 1986

(C) 1984 (D) 1976

9. U GUNERI T H Feiy® 9 e | fKar sar g 2
(A)  STIRTeR T (B)  STURH HIEAT

(C)  HiuesaH oy e+ Dy I Hedm
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On which factor more emphasis is given in a sgcialist economy ?

(A)  Economic freedom (B)  Production efficiency

(C) . Earning of maximum profit (D)  Public welfare

TR IS STENT % o STeI8 I o 2
(A)  ARRS IEE (B) A SETgT !

€ dfed STememe oE (D) i TiTe

Who was the first Chairman of the Planning Commission of India ?
(A)  Morarji Desai (B) Lal Bahadur Shastri

(®)] Pandit Jawaharlal Nehru (D)  Rajiv Gandhi

AT ( NREGA ) FTERT & A9 & Ay [ha =t o1 719 Siier 741 &
(A) THRT G (B) HARKS! ST

(C) TREN FRe Sl (D) TETeHT TR

Whose name has been added with the NREGA Program ?
(A) Man Mohan Singh (B) Morarji Desai

(C) Murli Manohar Joshi (D) Mahatma Gandhi
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12. 9Rd o fora T=g =) vl =afe s qaifys € 2
A fwr (B) UoI=

() i@ (D) T

Which state of India has the highest per capita income ?
(A)  Bihar (B) Punjab

(C) Haryana (D) Goa

13.  YRAE G5 99K F 79 wohR & 5ol & eq3F gl 8 2

(A)  3TCUT (B)  SIEeRIeT
s (&) T (B) IH D) T @ I

What type of loans is traded in Indian money market ?

(A) Short-term (B) Long-term

(C) Both (A) and (B) (D)  None of these

14. 99 9 @ 7 3l YR 9CGAT %1 92h € ?
@A) o= B)  Torem

(C) EeF (D) AR Hemg

| RE-YYY-555-J(100) (H-)111J Page 9/44
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Which of the following is a component of economic infrastructure e
(A) Finance (B) Education

(C) Health (D) Civil services

15. @ gemEt S YE H ST § e Ree o we fae 1 e SIeRas € 2
(A)  ISIARR (B) et A

(C) WMH (D) T & ®ig 7RI

Which mark of standardization is required to check the purity of any food

item ?
(A) ISI mark (B) Hall mark
(C) Agmark (D) None of thesc

16. TR &I g =< &I Ieafe siehes W gL ¢ ?

&) A \@/ﬁ?ﬁ

) |+ (D) TUEH
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Which river of Bihar originates from Amarkantak ?
(A) Punpun (B) Kosi

(©) Son (D) Gandak

17. ‘SHpA el Wome fFre e Y weat € 7

A) I (B) ARE

(C) WER \(/1');/ TG
‘Deccan QOdyssey’ train runs in which state ?

(A) Rajasthan (B) Karnataka

(C) Maharashtra (D)  Tamil Nadu

18. HRd I o4 921 {d @7 HH & ?
R CEGEEE B) UREH TE &

(C) sfEor & & (D) S Ie &

Which is the largest railway zone in India ?
(A) East railway zone (B) West railway zone

(C) South railway zone (D) North railway zone
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19. = H @« Iudiwr =] T 2
(a)  R-TEET (B) wlg-3EId

(© = 3T (D) oA dmmled

Which of the following is a consumer industry ?
(A) Petro-chemical (B) Iron and Steel

(©) Sugar industry (D) Chittaranjan locomotive

20. SRRl TG G4 fohE 2 & WA @ den T Y 2
(a) ST B) f=

(C) w4 (D) TgH T U

Bokaro steel plant has been opened in collaboration with which country ?

(A) Germany (B) Britain

(C) Russia (D)  United States of America

p1. YR 1 GIH I vilg 31q&h IAR_H T -1 & ?
(A)  Hifeem (B) ¥RGES

(C) HARH (D) el
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Which state is the largest producer of Iron ore ?
(A)  Odisha (B)  Jharkhand

(C) Karnataka (D) Goa

22. WPl TGl & GE0T F 1T 1068 § HiF-E1 FEE GO 9T 2
(A) TR HAGA (B) TG HAGY
©) fava anum wEvE D) T A HIE TS

Which convention was held in 1968 to conserve natural resources ?
(A) African convention (B) Wetlands convention

(C) World disaster convention. (D) None of these

03. TZell AR S & uEER & faeg B W @i a1 2

() U v/(13;/75{1

() 3ifgan (D) RN

~

Which of the following was against the unification of Italy and Germany ?
(A) England (B) Russia

(C) Austria ' (D) Prussia

| RE-YYY-555-J100) (H-)111dJ Page 13/44
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24. ST % THIEROT A THE TRIER H o1 ?

(&) A B) IREE!
(©  ®H D) ek

Who was the main architect behind the unification of Germany ?
(A) Mazzini (B)  Garibaldi

(C)  Lenin (D)  Bismarck

25. fr=fafea § @ w31 72 anfas fq =1 sim @i & 2
() IESICT (B)  odieRvoT

\Q/U@aw D) SRS

Which among the following is not the component of New Economic Policy ?
(A) Privatisation (B) Globalisation

(C) Nationalisation (D)  Liberalisation

06. URA H HLY! A S AR HIAT & ?

@A)  foa faum (B) TG deh

) o d« o e (D) T 9 HIT &
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28.
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Who issues the currency notes in India ?
(A) Finance Department (B) Commercial banks

(C) Reserve Bank of India (D) None of these

Terg =T, “TRT o & S TR T e wwe & 2
(A) e (B) 3y

€ dferm D) @R fagd

Who said, “Money is what money does” ?
(A) Coulborn (B) Knapp

(C) Scligman (D) Hartley Withers

YR ! 37T aeer Fd & ?
(A)  TETaRt (B)  THSTERT

(C)  TEERt (D) TatE

Which type of Economic system is found in India ?
(A) Capitalist (B) Socialist

(C) Communist (D) Mixed
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30.

31.

SEEMANCHAL ACADEMY
fereprertier Seit & wrivier saEn sifueiod: o ¢
@ F g e &
(©  Hem & T D) FEI A

‘The working population in develocping countries is engaged mostly in
(A) Agricultural sector '(B) Industrial sector

(C)  Service sector (D)  All of these

f 1 @ i wguig S 2
A)  HIE Hied B)  JmET

IHT-ShIeAT oy = e

Which of the following is a multinational company ? -
(A) Ford Motors (B) Samsung

(C) Coca-Cola (D)  All of these

Frfefad § @ F o1 4 % @ E 2

(A) = S (B) S I

\V/f@ﬁ‘ﬂm D) o SueHtT ST

RE-YYY-555-J{100) (H-I)111J
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Which of the following is a small scale industry ?

(A) Sugar industry (B)

(C) Toy industry (D)

32. YRd & TYH ol OYE HREMT g
(a)  AEOH (B)

A ToER | (D)

The first Oil Refinery of India is in
(A)  Mathura (B)

(C) Digboi (D)

33, fEg-=i A A T el STrar a1 ?
(A) Taenmt ot (B)

—cy shidrdt SRt D)

Who were called colons in Indo-China ?
(A)  Students (B)

(€) The French citizens. (D)

Paper industry

Electrical appliances industry

R A

Taeret H

Barauni

Guwahati

SRt )

= ARt 6t

Soldiers

The Chinese citizens

RE-YYY-555-J100) (H-I)111J
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34. el & wror N Frer F @ forwe oy @ E 2
(a) fowmh ) AfE

(C) HER D) e

Who among the following was not associated with the unification of Italy ?
(A)  Bismarck (B) Mazzini

(C) Cavour (D) Garibaldi

35. ‘gg IR wild ( War and Peace )’ J&i% fohan ferat ?

w

A) wEE" (B) Ziewe™

(C) et T (D) T

Who wrote the book 'War and Peace' ?
(A) Plekhanov (B) Tolstoy

(C) Karl Marx (D)  Turgenev

36. oot anfie dehe fohg o aIey gam o ?

(A) 1914 (B) 1922

\__(;z/ 1929 D) 1925
-
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SEEMANCHAL ACADEMYA

When did the worldwide economic crisis begin ?
(A) 1914 (B) 1922

(C) 1929 (D) 1925

37. &S NRAG T8 GHET HG H WG H g8 ?
(A) 1848 H B) 1881 H

(C) 1885 H ADT 1920 H

When was All India Trade Union Congress established ?
(A) 1848 (B) 1881

(C) 1885 (D) 1920

38. YRAE FHERTE & ‘GREEr ¥ B § WRA $ S TR SR aerd € 2
(a) ferA B) oA

) faferam dfesw (D) Y HeEHE

Which Governor-General of India is known as the ‘Liberator’ of the Indian

Press ?
(A) Lytton (B) Wellesley
(C) William Bentinck (D) Charles Metcalfe

| RE-YYY-555-J(100) (H-1)111J Page 19/44
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39. FHE A die & fAw At St A 9 | &= G 2

(A) =g n/ﬂ/mﬁ

© ¥ o) Tl

Which place was chosen by Gandhiji to break the salt law ?
(A) Bombay (B) Dandi

(C) Surat (D) Delhi

40. ST T {9 o g3 ?
(A) 1855 H B) 1857 H

(C)”” 1905 # (D) 1911 A

When was Bengal partitioned ?
(A) 1855 (B) 1857

(C) 1905 (D) 1911

41. 3TYRT YEYT 1 W@ U<H &
(A) TIERE TS (B) @I Qe WA

(C)  TiE aEm Heoot & @ D) T @R

"

[RE-YYY 555-Juv] (H-)111J
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The main component of disaster management is
(A) Local administration (B) Voluntary organization

(C)  People from village and colony (D)  All of these

42. HHF H A0 oA @ Rafa O =g wen =il 2
y AR 4 Y AT B) aEm wd faglwal St 9% HTr
(C) 3T YA T FAGR T (D) T § HIE I

What should be done in case of fire in house ?
(A) To call fire brigade

(B) To close doors and windows

(C) To wait till the fire is extinguished

(D) None of these

43, SRS SO 1 AN = Q frw s F R s @ 2
(A) dle (B) 4uis
(C) & (D) T | Hig Tl

Infrared camera is used in which of the following disasters ?
(A) Flood (B) Drought

(C) Earthquake (D) None of these
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4.  ToH e, qEUT R W S g% TeWAN &7 ¥, g9 F91 e ?

\em/mﬁ?ﬂ?ﬂ

(A)  HETHT T

(C) TEHg UT=R

Who said printing is the greatest gift of God ?

(D)

g1 79

(A) Mahatma Gandhi (B) Martin Luther

(C) Prophet Muhammad (D)  Jesus Christ
45. [9eR & @ S AR FHE E 2

N B) T

()  HITTR (D) T

Which is the largest city of Bihar ?

(A) Patna (B) Gaya

(C) Bhagalpur (D) Darbhanga
46. HETHT g5 I I hl W Fal g3 2

(A) TR (B) @™ AT

)/ oemet (D) R
RE-YYY-555-J(100) (H-I)111J Page 22/44
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Where did Mahatma Buddha attain enlightecnment ?

(A) Rajgir (B) Bodh Gaya

(C) Vaishali (D)  Sarnath

47. URTE & 9Een Al dasa o st wnfua e w2
(A)  WRd B)  oleiE
(C) SRS (D) AU
Where was the first export processing zone of Asia established ?
(A)  India (B)  SriLanka
(C) Bangladesh (D) Nepal
48. Y T fa¥PT Y w01 e g8 of ?
(A) 1834 (B) 1854
(C) 1890 (D) 1920
When was Indian Postal department established ?
(A) 1834 (B) 1854
(C) 1890 (D) 1920
RE-YYY-555-J(100) (H-)111J Page 23/44
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49. TR 1 FmfoT w5 gaw 2

(A) 1757 9§ (B) 1764 T
\(5/\ 1786 # Dy 1857 H
When was Golghar built ?
(A) 1757 (B) 1764
(C) 1786 (D) 1857
50.  USahell oile Td T
() sifewm (B) wRGEH
\9/ ey e I (D) uReEd ser A
Rourkela Iron and Steel industry is'in
(A)  Odisha (B) Jharkhand
(C) Madhya Pradesh (D) West Bengal
51. hiel HTEY hl G&eh &I 919 ¢
A)  FF IR Wil (B) 9 Higeer
(€ FRHE Ak (D) (B) €8 (C) ]FT
| RE-YYY-555-J(100) (H-)111J Page 24/44
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53.

SEEMANCHAL ACADEMY

The name of the book of Karl Marx is
(A)  War and Peace (B) Das Kapital

(C) Communist Manifesto (D)  both (B) and (C)

Wﬁmﬁ%msommmﬁwﬁﬂﬁﬁﬁ@mmﬁ

PR 2
(A) T A ﬁ/u@wﬂ'
(C) YTl T e (D) T Ty |

; , . in
Which of the following institutions has 50 per cent reservation for women

India ?
(A) Lok Sabha (B) Rajya Sabha
Q) Panchayati Raj system (D) State Legislative Assembly

T GeTa T SIAeTeT fhd- Oy I eIl € 2

a) 4o (B~ 5T
C) 6a4 D) 259

What is the tenure of Gram Panchayat ?
(A) 4 years (B) 5 years

(C) 6years (D)  2years
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54, WRA H eI S0t H g FaeT B smeifed #ir € 2
(A)  ToT T T (B) HRd T HieHH
(C)  YRd WHR (D) A ST
Who allots symbol to political parties in India ?
(A)  The party leader (B) The Constitution of India
(C)  The Government of India (D) The Election Commission
55. HRWS TSY T T % g3 ?
(A) 17EsX, 2000 H (B) 9 9EsK, 2000 i
(C) 15 9dsR, 2000 (D) 15 @R, 2001
When was Jharkhand state formed ?
(A) 1st November, 2000 (B) 9th November, 2000
(C)  15th November, 2000 (D)  15th November, 2001
56.  WRdA Wlou i e et # fraer wmredt w e R mr o
A) 21 B) 22
[C) 18 (D) 20
RE-YYY-555-J(100) (H-I)111J
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How many languages are scheduled in the Eighth schedule of the Constitution

of India ?
(A) 21 (B) .22
(© 18 D) 20
57. M9 ¥ FF N w smaia i E 2
(&) = g (B) I &M
(C) =& Iam (o) e s

Which of the following is not based on agriculture ?
(A)  Sugar industry (B)  Paper industry
(C) Textile industry (D) Cement industry

58. ©iE 3q&H €
(A)  TEIONg EEYT YBT FAEHONT T

(C) = "aNA (D) HHaSd dEraT

Iron ore is

(A) Renewable resource (B) Non-renewable resource
(C)  Biotic resource ' (D) Man-made resource
[RE-YYY-555-Ju0o) (H-1)111J
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60.

61.
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WTehiaeh 9 urEt St &
&) T Ty (B) FHIFA & W
() @i aet & W™ (D) T URR % WA

Natural Gas is found with
(A)  Uranium (B) Coal

(C)  Mineral oi (D) Limestone

Fr o @ i oRr T g SgT AT WG R & 2
(A) ~ TRIYR (B)  ThelddehH

(€ TR D) W

Which of the following is the largest nuclear power plant of Asia ?
(A) Tarapur (B) Kalpakkam

(C) Narora (D) Kaiga

fafefea sant § € S99 qEse 8 @ g=fag § 2
(A) . . diHe = \(?/ T dile Te T 39T

(C) IR wie T I (D) S o 3
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Which one of the following industries is related to Public Sector ?
(A) J. K. Cement industry (B) - Tata Iron and Steel industry

(C)  Bokaro Iron and Steel industry (D)  Raymond Textile industry

62. e TRy amfers & et R ¥ 2

Yo T |

(A fwErRH (B)-
/
() IRAH (D)  afifeRm H

Where is Falta Special Economic Zone situated ?
(A) Bihar (B) West Bengal

(C) Kerala {15) Odisha
63, . foer 1 waiius smar fr R d ¥ 2
(A)  HFTTR (B) AT

(C) Ul (D) AT

Which district has the highest population in Bihar ?

(A)  Bhagalpur (B) Nalanda
(C) Patna (D) Gaya
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64. forg R ST T YEAT HEl & 2
(A) SR @) ufE

(€ =g (D)  =eETe

Where is the headquarters of the World Trade Organization P
(A) Gceneva (B) Paris

(C) New York (D) Washington

65. T Te % Fodty F werent et F s “Sraw-u-fe Y Sy w@wT & 2
(A)  ERI-ERT S By~ ST 9N geThTS

(€  Tind-Rie= 99 D) fEEE TR

Mahatma Gandhi gave up the title of Kaiser-e-Hind’ in protest against which

cvent ?
(A) Chauri-Chaura incident (B) Jallianwala Bagh Massacre
(C) Gandhi-Irwin Pact (D) Peasant Movement

66. QT aTT TR S Yo R A W EE © ?
@) et @m (B)  TEORYT I

\Lq/mé’rﬂﬁﬂ (D) ¥ | FIE 7l
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From which march was the civil disobedience movement started ?

(A)  Dclhi March (8) Champaran March

(€)  Dandi March (D) None of these

67. favﬁaﬁmwﬁmmm‘“@ ’

(B)  SAH
\(9/ < (D) emRE

Where did printing begin in the world for the first time ?

(A) India (B) Japan
(C) China (D) America
68. Tefcifed & @ % UE g 6l ¢ ?
(A) RO ST Ul (B) YR I HUd
(C) @S THNT Ul (D) Y ST g

Which of the following is not a national party ?

(A) Bharatiya Janata Party (B) Indian National Congress
(C) Bahujan Samaj Party (D) Rashtriya Janata Dal
[RE-YYY-555-J(100) (H-)111J
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69. YR A TR dfoum H e sifer e 2
(A) 15 3T, 1947 (B} 15 eI, 1950
(C) 26 &, 1950 (D) 26 37T, 1950
When did India adopt the republican constitution ?
(A)  15th August, 1947 (B)  15th January, 1950
(C)  26th January, 1950 (D)  26th August, 1950
70. Ol STRIG ORI ST e Toed Y ?
(A)  eRA B) @R
(C) sen (D) WA
What is the Election Symbol of Lok Janshakti Party ?
(A) Lantern (B) Arrow
(C) Bungalow (D) Cycle
71. TR HI BHE-G1 THR G4 ST A AT 8 2
(A) TS (B) ke
) fFEEEmar (D) ¥ ¥ IS Tl
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Which form of government is considered the best ?

(A) Monarchy B) Democratic
(C) Dictatorship (D) None of these
72. W FHEed H TH B Sl § 2
&) =a B) THETH
(C) TR (D)
Who is the head of Gram Kachahari ?
(A) Nyaya Mitra (B) Gram Sevak
(C) Mayor (D) Sarpanch
73. WRA A RRE TR H G IO § 2
A) g AR TeEg BT EHE SR e
(C) UehcHS 3R 3Teaeia (D) TS AR He
What type of system of Governance is there in India ?
(A) Federal and Presidential (B) Federal and Parliamentary
(C) Unitary and Presidential (D) Unitary and Parliamentary
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74.  YRA ¥ YgAT TR 9 w1 T 2
(A) U H | HEE () q
(€) mTgE o) R (gEE ) H
Where was the first Municipal Corporation of India formed ?
(A)  Patna (B) Madras ( Chennai)
(C) Nagpur (D) Bombay ( Mumbai )
75. ARG H HAETE 6w =T g ¥ 2
(A) 1699 B) 1799
& 18 99 (D) 2173
What is the minimum age to be a voter in India ?
(A) 16 ycars (B) 17 years
(C) 18 ycars (D) 21 years
76.  Clehd= T WIUT feRA el T . 2
\(7/ TR e B) wlaum ®
(C)  —radIfereRT i (D) U9
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What is called the life blood of democracy ?

(A)  Political parties (B)

(C)  Judiciary (D)

fr=foifad & =19 = F9a € 2

(A) ¥ER (B)

NCER ®)

Which of the following is a Rabi Crop ?
(A)  Jowar (B)

(C) Wheat (D)

od e et T e e fed © 2

(A)  ShicTeRTdl (B)

et T o

Constitution

Press

Jute

Rice

% feeett

i

Where is the headquarters of East Central Railways ?

(A) Kolkata (B)

(C) Hajipur (D)

New Delhi

Mumbai
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79. ‘fa@R w7 v’ fRE ol @l el ST S ?

(&) W \/fﬁ)/“oﬁ%ﬂ

(C) TigH (D) 9N

Which river is called the ‘Sorrow of Bihar’ ?
(A) Ganga (B) Kosi

(C) Gandak (D) Son

80. Fafalea wf=t 4 e frad gafRa e 2

&) = Mw

e

(C) TiE 3R (D)

Kodarma is related to which of the following minerals ?
(A) Bauxite (B) Mica

(C) Iron ore (D) Copper

|TQE-YYY-555-J(1ooj (H-1)111J Page 36/44




SEEMANCHAL ACADEMY

EUEg - & / SECTION - B

3f®™ / History

! 0T WY / Short Answer Type Questions

YT GEAT 19 6 7% g I 1 5 @ fodt awwnt & Iww &1 9w 9T & g

2 3% frife &1 3x2=6
Question Nos. 1 to 6 are Short Answer Type. Answer any 3 gquestions. Each question
carries 2 marks. 3x2=6
1. & it & =l < o o ferd -

Write any two causes of Russian revolution.

2. gAY AT T FEAA & ? 2

What do you understand by New Deal ?

8 STEANT ST S T A = i TR 2 2

Why did Gandhiji withdraw the Non-Cooperation movement ?

4 ShEniERer 3 TR S Sttt @ e WehR wied fwar 2 2

How did industrialisation affect the livelihood of labourers ?
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5.  YRAEN gRT sHEER U TR H Ry 54 fear T ?

Why was the Vernacular Press Act opposed by the Indians ?

6.  #iHw =t &1 s wedd 7 fere aftRfaEt & e gen 2

Undcr what circumstances did labour class come to the cities ?

i S we / Long Answer Type Questions

WY QAT 7 3% 8§ gwetw &1 v @ Frwt v @7 I &1 WAF HYA & [0 4 3%

frerifeea &1

1x4=4

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them. Each question

carries 4 marks. 1x4=4
7.  I9 H ALAR & TOR H AUIT G499 & JIRET bl foeremr & 4

Discuss the contributions of Napoleon Bonaparte in the sprcad of nationalism

in Europe.
8. TR UL Ao J TS bt Jfaest it foeemr w0

Discuss the role of Gandhiji in Indian National Movement.
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ST f AT / Political Science

g I HIT / Short Answer Type Questions

7y dEr 9/ 12aa;agawﬁwa‘:g=rxf#ﬁm?zmaf%awa*rmm%fﬁv

2 3% FraiRea &1 2x2=4

Ouestion Nos. 9 to 12 are Short Answer Type. Answer any 2 guestions. Each gquestion

carries 2 marks. 2x2=4

0. wiemditie fasesienor o W i ® 2 2

What is the meaning of democratic decentralisation ?

10. UTH U & fReel 1 it ST 9u @ | 2

Explain any two functions of Gram Panchayat.

11. ST ST PFHA T ?

What is anti-defection law ?

12. e S AFR B T H @A &1 HH 2

Right to Information ‘Act is a caretaker of democracy. How ?
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et IWI WY / Long Answer Type Questions

UV qEr 13 v 14a?#3ﬁﬁzrglgﬂﬁdﬁm?wwa“ﬂﬁlmma‘rﬁrrq

4 3% freifRa &1 Ix4=4
Question Nos. 13 and 14 are Long Answer Type. Answer any one of them. Each question
carries 4 marks. lx4=4
13, oishad o faueft geil @ i @ fawr fadee it 4
Discuss in detail the role of opposition parties in democracy.

14. R 0 & w5 ol w51 :
Describe the functions of Municipal Corporation.

NS'I'IW / Economics

Y IWT WY / Short Answer Type Questions

W §EAT 157 18 7% o1 I &1 3 @ feel 20wl & v F1 9dF uvA & ferg

2 & FraifRa g1 2x2=4
Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions. Each question
carries 2 marks. 2x2=4
15. Hdd fgewg fad sed ¢ ? 2

What is sustainable development ?

16. U= ¥ Y T FHSA € 2 2

What do you understand by Economy ?
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17, AT = o oY i

Deflinc Globalisation.

f}TMW%?

What is ATM ?

R ‘rT‘FT / Long Answer Type Que_ations
T HET 19 2oa?#;aﬁw§l,saﬁ#ﬁm?qaranaara’lmm%ﬁw
4 3fF fraiRa &1 Ix4=4

Question Nos. 19 and 20 are Long Answer Type. Ariswer any one of them. Each question -

_carries 4 marks. 1 etfersit

19. EETEE ¥ & W@ S @l fader 4

Discuss the main functions of commercial bank.
00, Tt % st o % = wROT § 2 fRR % RES @ R aRA & 3UE Wi
F TRy 4

What arc the causes of cconomic backwardness of Bihar ? State briefly the

mcasurcs to remove backwardness of Bihar.
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‘T’ﬁ?'l' / Geography

@Y IO WY / Short Answer Type Questions

UV WEAT 21 % 26 7% oy Iwia 1 g @ et 39wl & I 71 w99 & forg

2 3% fraifa &

3 x2=6

Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions. Each question

carries 2 marks. 3x2=6

21. HEe & fafye vt & a1 fafe) 2
Name the different types of coal.

22. #Ra wifa ¥ an9 == gHer € 2 2
What do you mean by Green revolution ?

23. NG & MUR U IUNN i HIEIT ificha hifod | 2
Classify the industries with examples on the basis of ownership.

24. HRA @ fhgl I VYU HHA & AW feAf@n | 2
Write the names of any two plantation crops of India.
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95, RS TSHUT, TET TIEIUT A fohd YR W ¢ ?

How is crop rotation helpful in the conservation of soil ?

26. WWW@Hﬁ?ﬁﬁﬁ#—?ﬁWWﬁﬂﬁﬂﬁﬁ% ?

Which system of agriculture is considered useful in the areas of wind erosion ?

e IR WA / Long Answer Type Questions

m#@ﬂ27q#2sa?a‘awﬁaz?lgﬂﬁ#ﬁm?quaﬁ?é:lmmafﬁw

4 37 frafia &1

Question Nos. 27 and 28 are Long Answer Type. Answer any one of

carries 4 marks.

o7 ey Tafauer T § 7 g% HHG-STEA % fog T Hew ol € 2

What is bio-diversity ? Why is it important for human life ?

08, R Sy # e frdsme i A Sy

Discuss the main characteristics of Indian agriculture.

1x4=4

them. Each question

I1x4=4

[RE-YYY-555-J000) (H-I)111J

Page 43/44



WWW.SEEMANCHALACADEMY.COM
39ET USU / Disaster Management

Y I W9 / Short Answer Type Questions

TET WG 20 % 32 7% g IAT &1 g @ et 299 & I &1 9w 99T & forg

2 & freifea &1 2x2=4
Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions. Each question
carries 2 marks. 2x2=4
29. 9@ FWI &id 1 HH T & I T Ioohd HIAT | 2

Mention the measures to minimise the damage by flood.

30. U WEyH AT STEvTF & 2 2

Why is disaster management necessary ?

31. QEIS &I 3@y o Mgt o) 96 ) 59w W@y % 6w ey v war ? 2

What will you do to maintain soil moisture during drought ?

32. Y % UNET i Y FHH & 31 YA 1 Ioei@ HIT| 2

Mention two measures to reduce the effects of earthquake.
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